na7= Cl ear [VAit, rep
, cust, queue, t1, sl1, s2]; {Wait, rep, cust, queue} = {{0}, 100000, 1, 1};

nas;= Whi l e[cust <rep, t1 = Random[Exponenti al Di stribution[1]];
sl = Random[Exponenti al Di stri bution[1]];
s2 = Random[Exponenti al Di stri bution[2]];
I f [queue == 0, cust =cust +1; queue = 1; AppendTo[Wait, O], If [queue == 1,
If[tl<sl, cust =cust +1; queue =2; AppendTo[Wait, 0], queue =07, If[
queue =2, If [t1l <s2, cust =cust +1; queue = 3; AppendTo[Wait, 0], queue =17,
I f [queue =3, If[t1l<s2, Wait [[cust]] =Wait [[cust]] +t1; cust =cust +1;
gueue = 4; AppendTo[Wait, 0], queue =2; Wait [[cust]] =Wait [[cust]] +s2],
I f [queue == 4, WAit [[cust -1]] =WAit [[cust -1]] +S2;
Wait [[cust]] =WAit [[cust]] +s2; queue =3]111111

naor= Cl ear [p0, pl, p2, p3, p4, L, Wi1;
{p0, p1, p2, p3, p4, L, W} = {8723, 8/23, 4/23, 2/23,
1723, OxpO0+1»pl+2+p2+3%*p3+4xp4, L/ (1x(1-p4)) -1};

Conmparesinulatedpwiththeroretical p

nsop= For [i =1; count =0, i <rep, i ++, If[VAit[[i]] =0, count =count +1]7;
N[{count /rep, (pO0+pl) / (1-p4)}]

ousol= {0. 72536, 0. 727273}

Compare sinul ated Wywit htheoretical one
nis= {Mean[Wait ], N[Wj1}
ous)= {0.182865, 0.181818})

inis21= Hi st ogram[Wai t ]
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